Ratio to CMS

10?

10

[EEY

0.5

2360 GeV pp NSD
L L L Y I N L L LY L O L B B L B B B B
== Charged Particle sl Spectrum(NSD, |n| =2.0 - 2.2) =
— W g =
S N -
: \\\\.ld\\\,! :

s *\L\!
= lm E
[ [ | CMS \‘V\t':,\ ]
~  -.o-- Pythia 6.428 390 RN -
— --&-- Pythia 6.428 391 I SN 7
— --%-- Pythia 6.428 392 “iifg...%__. N
--+-- Pythia 6.428 396 Ty
= --%-- Pythia 6.428 397 3
— ---¥-- Pythia 6.428 398 _
e P U AT S SR U R S
— m:-_:@:*_t _‘_:'_E:% =:'i:-§'§:. — /:/.-% N
i , /‘ §\! ¢:f’§;‘=~%\:fg 7 x---¥. S J— -*\\\ \1%//-‘ /“*”,,l :
¥ ¥ h I
" 1 1 1 | " 1 1 1 1 | 1 1 1 1 | " 1 1 " 1 1 " |
0 0.5 1 1.5 2

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


